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1
Partial fraction decomposition of
2
T —5r+6
1) First factor the bottom, as shown.
1
(x-3)-(x-2)

2) Now we see the denomiatnor is a product of two linear factors.

2a) Write the setup for partial fractions.

1 A B
= +
(x—3) - (z—2) (x—3) (xz-2)

2b) Multiply both sides by (x-3)(x-2). This will clear the denominator on the left.

(6-3)(5-2) —— {A B}( 3)(a-2)
X — €L — : = + (= T —
(x—3) (x—2) (x—3) (x—-2)
(x—3)(x—-2) A B
1= (x=3) - (xz—-2 (x—-3)-(x—2
(5-%) (5_2) — (x—3)( )+(m_2) (x-3) (x-2)
1=A(z-2)+B(x-3)
3) Now you can solve for each of A and B.
Set x=2. This will give you B. Set t=3. This will give you A.
1=A(2-2)+B(2-3) 1=A(3-2)+B(8-3)
1=A(0)-B 1=A(1)+B(0)
1=-B 1=A
-1=B

4) Now you can write the partial fraction decomposition as shown.




